The following directed graph can be represented in form of matrix as
(_\/(‘7‘1//\/2

Answer ( Please select your correct option )
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Answer ( Please select your correct option )
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An arrangement of rows and columns that specifies the truth value of a compound propostion for all possible truth values of its constituent propositions 15 called

Answer ( Please select your correct option )

r

Truth Table

WVenn Diagram

False Table

Mone of these
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The statement of the form p ~p1s

| 2|
Answer ( Please select your correct option )
Tautology
-~
Contradiction
e
Fallacy
Ie
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A crcut with one mput and one output signal 15 called

=
Answer ( Please select your correct option )
HOT-gate {(or mverter)
I
CR- gate
@]
AND- gate
P
Mone of these
lﬂ -
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If A and B are two sets then the set whuch contams all those elements that belong to & or B 1s E

| 2|
Answer ( Please select your correct option )
AuB
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Mone of these
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If A and B are two sets then the set wlich contans all those elements that belong to both & and B 1s E

| 2|
Answer ( Please select your correct option )
AuB
I
Am 8
@]
A-B
-
Mone of these
(@ -
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Let T be the universal set, & and B are its subsets then (48 is equal to

| 2|
Answer ( Please select your correct option )
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If A={a b} isasetand 8 ={{a,c), (&) (c,a)} is arelation on & then F i3

=
Answer ( Please select your correct option )
Transitive
I
Eeflexive
@]
Symmetric
P
Transitive and Beflexive
lﬂ -
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The mverse of given relation R = {{1,1),(1,2),(1,4), (3,4 ,(4, 1)} 15

Answer ( Please select your correct option )

(L1, (1,2), 4. 1,04, 3.4}

{1142.10.04.1).04.3).01.47)

(LD D@03}
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If(x)=2x+1, g(z) = x* -1 then gaf(x) =

| 2|
Answer ( Please select your correct option )
4?42
-~
2 -1
e
4z +ax
Ie
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Let A={xy,z} and & ={a,b,c} betwo sets then a fnction { defined as {{x,a), (¥, ), (z,a)} is

=
Answer ( Please select your correct option )
Onto
I
Constant
@]
One-to- one
-
Onite and constant
(@ -
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Let £ and g be the functions defined by 7(x) =2x+3 and g{x) =3x + 2 then composiion of fand g 1=

| 2|
Answer ( Please select your correct option )
Ex+é
-~
S5x+5
e
Ex+7
Ie
hade By: Wagar Siddhu




Let X ={11,12,13} and ¥ ={21,22,23} be two sets, determine whether the relation & ={{11,21),(12,22),(13,22)} is

=
Answer ( Please select your correct option )
One-One function
P
Mot one-one function
-
Undetermined
I
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The negation of 1<z =10 15z £1 orx 210 by usmg:

=
Answer ( Please select your correct option )
Distributive Law
I
Inequality Law
@]
De-Morgan's Law
P
Mone of these
lﬂ -
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A finction whose domain 15 a subset of the set of natural numbers and range subset of real or complex numbers 1s called

Answer ( Please select your correct option )

r

onto mapping

mto mapping

SECUENCE

relation
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A sequence in which common difference of two consecutve terms 15 same 15 called

Answer ( Please select your correct option )

Beometnc mean
I
harmotuc sequence
@]
Zeotnetric sequetice
P
arithmetic progression
(@ -
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Forreal numbers aand b these a + 5, b —a, a%b and a+b are

Answer ( Please select your correct option )

Geometnic expressions
P
Arithmetic expressions
-
Harmonic expressions
I
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The same element can never appear --------- mn a set.

| 2|
Answer ( Please select your correct option )
twice
-~
ONCE
e
thrice
Ie
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Ifp = It 15 rasung
q = She will go to college
"It 15 raining and she will not go to college” will be denoted by

| 2|
Answer ( Please select your correct option )
Pl
I
P g
@]
(2rg)
-
Pg
(@ -
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7 ~g shows

Answer ( Please select your correct option )

Conjunction of p and g

Disjunction of p and g

Contingency of p and g
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LetA=1{1,2,3} and &={(L1D,(L3.(2,2).(2 3,(31)} be arelation on &
Then find & .

Answer | Please click here to Add Answer )
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Let a and b be mtegers. Suppose a fimction Q) iz defined recursively as follows: =]
Otab) 5 ifadk
2 b =
! Qla—-bE+2)+a ifbia
Find the value of 0(5,3).
- |
Answer | Please click here to Add Answer )
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Suppose that B and 5 are two reflesive relations on a set & Prove or disprove R & is reflexive

Answer | Please click here to Add Answer )
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5 ifads

Let a and b be mtegers. Suppose a fimction Q) iz defined recursively as follows:
Qla-b b+ +a ifdbla

Cla.2) ={
Find 0 (15, 2)
|

Answer | Please click here to Add Answer )
DSl =S = [@E e @ ek
S

e
PSR EF

==

Jrucrmal | B
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I

(a) Write the relation E as set of ordered pairs then write inverse of E.

In the following diagram
(by  Whether it 15 symmetne or anfi-symmetne relation?

e
PSR EF

Answer | Please click here to Add Answer )
DSl =S = [@E e @ ek
S
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Answer | Please click here to Add Answer )
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The fifth term of an artthmetic sequence iz 17 and ninth term is 37 find the first four terms of thiz sequence.

Answer | Please click here to Add Answer )
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